

Subtracting Two Mixed Fractions (G)

Name: _____

Date: _____

Score: _____

Calculate each difference.

1. $4\frac{3}{4} - 3\frac{1}{3} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

2. $3\frac{7}{8} - 2\frac{1}{3} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

3. $5\frac{3}{13} - 2\frac{8}{9} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

4. $4\frac{16}{19} - 2\frac{5}{7} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

5. $3\frac{4}{5} - 1\frac{1}{3} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

6. $4\frac{16}{17} - 1\frac{2}{9} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

7. $2\frac{6}{11} - 1\frac{1}{6} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

8. $4\frac{11}{13} - 2\frac{1}{2} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

9. $4\frac{2}{19} - 2\frac{3}{8} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

10. $5\frac{1}{13} - 2\frac{3}{8} = \underline{\quad} - \underline{\quad} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

Subtracting Two Mixed Fractions (G) Answers

Name: _____

Date: _____

Score: _____

Calculate each difference.

$$1. \quad 4\frac{3}{4} - 3\frac{1}{3} = \frac{19}{4} - \frac{10}{3} = \frac{57}{12} - \frac{40}{12} = \frac{17}{12} = 1\frac{5}{12}$$

$$2. \quad 3\frac{7}{8} - 2\frac{1}{3} = \frac{31}{8} - \frac{7}{3} = \frac{93}{24} - \frac{56}{24} = \frac{37}{24} = 1\frac{13}{24}$$

$$3. \quad 5\frac{3}{13} - 2\frac{8}{9} = \frac{68}{13} - \frac{26}{9} = \frac{612}{117} - \frac{338}{117} = \frac{274}{117} = 2\frac{40}{117}$$

$$4. \quad 4\frac{16}{19} - 2\frac{5}{7} = \frac{92}{19} - \frac{19}{7} = \frac{644}{133} - \frac{361}{133} = \frac{283}{133} = 2\frac{17}{133}$$

$$5. \quad 3\frac{4}{5} - 1\frac{1}{3} = \frac{19}{5} - \frac{4}{3} = \frac{57}{15} - \frac{20}{15} = \frac{37}{15} = 2\frac{7}{15}$$

$$6. \quad 4\frac{16}{17} - 1\frac{2}{9} = \frac{84}{17} - \frac{11}{9} = \frac{756}{153} - \frac{187}{153} = \frac{569}{153} = 3\frac{110}{153}$$

$$7. \quad 2\frac{6}{11} - 1\frac{1}{6} = \frac{28}{11} - \frac{7}{6} = \frac{168}{66} - \frac{77}{66} = \frac{91}{66} = 1\frac{25}{66}$$

$$8. \quad 4\frac{11}{13} - 2\frac{1}{2} = \frac{63}{13} - \frac{5}{2} = \frac{126}{26} - \frac{65}{26} = \frac{61}{26} = 2\frac{9}{26}$$

$$9. \quad 4\frac{2}{19} - 2\frac{3}{8} = \frac{78}{19} - \frac{19}{8} = \frac{624}{152} - \frac{361}{152} = \frac{263}{152} = 1\frac{111}{152}$$

$$10. \quad 5\frac{1}{13} - 2\frac{3}{8} = \frac{66}{13} - \frac{19}{8} = \frac{528}{104} - \frac{247}{104} = \frac{281}{104} = 2\frac{73}{104}$$